INTER (PART-I1) LAHORE BOARD 2017

Biology Paper I (Objective Type)
Time Allowed: 20 Minutes GROUP -1 Maximum Marks: 17

NOTE:You have four choice for each objective type question as AL B. C and D. The choice which

you think is correet. BT that cirele in front of that question number. Use marker or pen to 111]
the cirele. Cuatting or Hilling two or more circles will result in zevo mark in that question,
MIEmpL as many questions as given in objective type questions papers and leaye otiers

blank. Mo credit will be awarded in case. BUBBLE are not tilled. Do not sohve guestions on
this sheet oF OBIECTIVE PAPER.

QL{l) Which onc of the following structures of Kidney is involved in the production of

concentrated urine:

CA) Glomerulus (B) Juxtamedullary nephron
(L Corteal nephron (D) Vasa recta .
(2] The body temperature regulation in human is based on complex homeostatic
thermostat present in the:
(A1 Cerchrum (R Medulla oblongata () Hypothalamus (D} Thalamus
(3) Collagen fibers of bone are hardened by the deposit of:
e Calcium phosphale (13) Sodium phospharte
(L) Sodium carbonate (1)) Caleium curbonate
(4) The synovial jointis surrounded by a layer of connective tissue called:
A Lcament (B) Nucleus pulposus () Annulus hroses (1) Fibrous capsule
(5} The onset of eptlepsy usually oceurs before the age of:
7 B L (13) 30 vears 1) 30 venrs chd g o vedes
(6) All ol the following animals are the haploid parthenosenetic exeept:
CAO Waspis VB3 Aphids (O Honey boes V1) Ants
(7} Uterus opens into the vestibule (vagina) through:
A Cervin (130 U reter (O Oviduet 0 terine tube
(8) Vitamins are the organic compounds synthesized within the plant bodies in the presence of
(A Waeer {By Nutrients (Ch Lizht (13 Oxveen
9 DNA polvmerase only adds nucleotides to the end:
) N-end () 3'-end (C) 2-end (1)) 4'-end
(10)  The presence of invading cells other than normal tissue is an indication of
(A Melatoma (13) Abnormality (C) Mutation (D) Mahenanes
(11)  The condensation of chromosomes reaches to its maximum during:
(A Diakinesis (13) Pachyiene 1) Zvgotene (D Leptotene
(12)  The individual called universal recipient has:
EA) B3-hloed grup (131 O-blood group (Cr AB-blood group (D3 A-blood aroup
(13)  Patients of eyvstic fibrosis often die due to nuinerous infections of the :
(A Respiratory tract (13) Exceretory tract (O Digestine trit VI Reproductinve trat
(I4)  Emigration and immigration of members of a population, cause disturbance in the:
(A Genotype (131 Genetic dnft () Phenotvpe (1 Gene poood
(15)  Suceession begins by a few hardy invaders, called :
(A Initators (B Pioneers (C) Founders (134 reators
(16)  The soil of grass-land is basically impermeable with excessive:
(A) Neutral pll (3 Acidiy (C} Salinity (D Naisture
(17)  Our daily energy requirement met by fossil fuels is:
) B3, LBl (0 ) N BRI AT
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INTER (PART-II) LAHORE BOARD 2017

Biologpy Paper I (Subjective Type)
Fome Allowed. 2.40 Hours GROUP -1 Maximum Marks: 68

NOTE S Wote same question number and its part number on answer hook, as given in the question paper.,

SECTION-I

20 MWote shortanswers to any E1IGHT (8) questions : 16
i Gove the characteristics of xerophy tic plants.
i What s counter current multiplier?

Lt State reval Lailare,

o Compare phototropism and geotropism.

VoW hat s plantigrade? Also give examples.

v Il Terentiate between Licaments and tendons.
v What are test tube bubies?
vie Gonve seime advantages and disadvantages ol cloning.

Worite aonote on protundal zone,

oMW D s fivering i ecosystem’!?

vio Mention any four wavs in which we can save energy,
v Give the importance ol ozone layer. _

3 Worate short answers to any EIGHT (8) questions : 16

v o planes respond o various stimuli? '

v Diflerentiante between etiolation and chlorosis.

pe tive commeretal applications of auxins.

i Ehaw ses determination oceurs i yeast?

v Desenbe sex inlluenced traits.
v W hat s Bombay phenoty pe'?
vie Deline the term otupotent.
Ak Compare ex-vivo gene therapy with in=vivo gene therapy.
v L Lthorate the uses o plasmids .
v How primary succession diiters from secondary succession?
s Detine badioaere and serosere, ;
r AL dewn the significanee of root nodules in plants.
ite short unswers to any SIX (6) questions @ 12
Lo Deline arowth,
M hat doosou mean by lateral meristem?
i Define one-gene-one polypeptide hypothesis.
W har doovou mean by mutations?
v Derine nucleotide and nucleoside.
vie Deline merosis and mitosis.
vie W hat dooyou mean by non-disjunction?
viee Dedine theors of special creation. Who proposed n?
MW oy dosyou mean by non-random mating?
' SECTION - 11
Note s Attempt any THREE questions.

.
-
-

ta) Give four major homeostatic functions of liver. 4

ch W hat is saeeession”? Describe process of succession on a dry soil. 1.3

O g Give importance ol skeleton. 4
(b Describe topes of chromosomes on the basis of centromere. +

T tar Eaplion the structure and funcoon of thyroid ghand. 4
thy What is pollution? Fxplain the phenomenon of ar pollution. 4
NG Eaplon sexually transmitted discases i human, #
(B T oapham in detal diabetes melhitus and its 1y pes., 4
bt Deseribe the role of nueleus m deselopment. : 45
i d

(b Describe the factors aftecting cene trequengy of o population,



